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Candidates must write the Code on the 
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 Series BVM/3  H}T ²¥¾.     222/3/2 
 
c}d ²¥¾^c  

   

 

qBqWhpg¾ 
(\¥Op^r EdXp) 

HISTORY 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 9 \¥²y¾ + 1 `p²¾qM§Wc 
h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
t̀§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 16 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q ¥̀R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g ỳ qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

 Please check that this question paper contains 9 printed pages + 1 Map. 

 Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 16 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) gpcy \of²¾p£ Yy E¨Wc qYE & HtP \of²¾p£ dBr A¥Ycv²¾r qeHd\ qY§Wy JBy 

h²¾ & hc qBH \of²¾ Yy A¥H EgYy gp`ªVy A¥qHW h²¾ & 

(ii) \of²¾ g¥qIAp 1 W~ 3 Y} A¥H epdy h²¾, hc qBH \of²¾ Yp E¨Wc  

30 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & 

(iii) \of²¾ g¥qIAp 4 W~ 9 Mpc A¥H epdy h²¾, hc qBH \of²¾ Yp E¨Wc  

100 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & 

(iv) \of²¾ g¥qIAp 10 W~ 12 A§S¾ A¥H epdy h²¾, qB²¾ªp£ hc qBH \of²¾ Yp 

E¨Wc 350 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± &  

(v) \of²¾ g¥qIAp 13 W~ 15 gc}Wp£ Wy ApZpqcW \of²¾ h²¾ & 

(vi) \of²¾ g¥qIAp 16 `p²¾ qM§Wc g¥̂ ¥Zr h±, qBg qeM d§NVp£ ²¥¾v \qhMp²¾Vp 

AWy `hWe\vcV `Yp£ ²¥¾v YcgpVp fpq`d h± & `p²¾ qM§Wc ²¥¾v E¨Wc 

\tgWH Yy A¥Yc ²§¾Xr Hc} & 

 

I¥T A 

 (^htW N}Ry E¨Wc epdy \of²) 23=6 

1. ôph`Vr YgWvc ‘J}Wc’ ²¥¾v g\fR Hc} & 2 

2. ‘‘AH^c Yr Zpcq`H qJAp²¾ Yr _pd ²y¾ A¥Wc-Zc`r ^qhg- t̀̂ phqgAp£ ²¥¾v 

O²¾` qY§Wp &’’ HX²¾ ²¥¾v qHgy Y} \±hdvAp£ ²¾pd g\fR Hc} & 2 
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3. Hyq^²y¾R q`f²¾ \dp²¾ Yy qHgy Y} ²¾WrqOAp£ Yp ecV²¾ Hc} & 2 

Op£ 

 1946 qeM h}By \oYyfH MtVpep£ Yy qHgy Y} ²¾WrqOAp£ Yp ecV²¾ Hc} & 2 

 

I¥T B 

 (N}Ry E¨Wc epdy \of²) 46=24 

4. hm§\p Yr qd\r ^pcy qeYep²¾p£ Yy qeMpcp£ Yp qefdyfV Hc} & 4 

5. A¥Joykp£ ²y¾ \hpmr fqhcp£ (qhd gRyf²¾p£) qeM ^gWrepYr fqhcr HzYc Yp 

qeHpg qHE¤ HrWp gr ? qeApqIAp Hc} & 4 

6. ‘‘Hdp, gpqhW AWy Hpd\q²¾H qM§Wcp ²y¾ 1857 Yr apY ²¥¾v qO¥Yp c§IV qeM 

qh§gp \pqBAp h± &’’ HX²¾ ²¥¾v _pcWr cpfRcepY Yy g¥Yc_ qeM EqM§W  

S¾qhcpG & 4 

Op£ 

 ‘‘AeZ qeM 1857 Yp qeYc}h qBH qeYyfr fpg²¾ Yy qIdp³ d}Hp£ Yy Aec}Z 

Yp \oJRpep ^V qJAp gr &’’ qBg HX²¾ ²¥¾v AeZ Yy WpdtHyYpcp£ AWy qHgp²¾p£ 

Yy g¥Yc_ qeM E¨qMW S¾qhcpG & 4 

7. ‘‘A`c-²¾pqBH \oVpdr qeO±²¾Jc gp`cpO Yr qBH \ò tI cpO²¾rWH I}O  

gr &’’ HX²¾ Yr EYphcVp£ Yy Hy \tfRr Hc} & 4 

8. _pcWr g¥Mpc \oVpdr Yy g¥̂ ¥Z qeM qB§̂ ²¾ ^WvWp Yy qeec²¾ Yp q^Gcp qd§I} & 4 

Op£ 

 _pcW Yr OpWr qeegXp Yy g¥ ¥̂Z qeM Ad-q^cv²¾r Yy qeec²¾ Yp q^Gcp  

qd§I} & 4 
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9. Nyes W~ M¡Xr fWp^Yr Br.\v. Yy Ycq`Ap²¾ `JZ g_ W~ fHWrepYr `hp£O²¾\Y 

qHez ^qVAp ? qeApqIAp Hc} & 4 
 

I¥T C 

 (d¥̂ y EW§c epdy \of²) 83=24 

10. ‘‘²¾`H gqWApJcqh Yy ²¾pd Jp£ZrOr ²y¾ A¥JcyOr cpO Yy qIdp³ qeAp\H 

A¥Y}d²¾ ²¥¾v g¥JqS¾W Hc²¾ Yr H}qff HrWr &’’ Hpc²¾p£ AWy KR²¾pep£ Yy g¥Yc_ 

qeM HX²¾ Yp qefdyfV Hc} & 8 

Op£ 

 ‘_pcW N}m} A¥Y}d²¾’ qeM Jp£ZrOr Yr _vq`Hp Yp qefdyfV Hc} & 8 

11. ‘‘ t̀gWqHd (gXpBr) ¥̂Y}̂ gW W~ q\§N~ t̀Udy YhpqHAp£ qeM O`sYpc cpOgr 

Hc (`gvd) Yr ¥̀J ²¥¾v AYp Hc²¾ qeM h`yfp Ag³d chy &’’ qBg HX²¾ Yy 

g¥Yc_ qeM Hpc²¾p£ Yr \cI qegWpc ²¾pd Hc} & 8 

Op£ 

 cpO `qhd \hpmrAp£ Yy \hpmr d}Hp£ Yr E\OreHp Yy gc}Wp£ Yr \cI Hc} & 

g¥Xpdp£ Yy ApV Wy E²¾ªp£ ²y¾ Hr \oqWqHqcAp HrWr ? 4+4=8 

12. Adepcp£ AWy ²¾a²¾pcp£ Yy cpO AWy g`pO Yy Ycq`Ap²¾ g¥̂ ¥Zp£ Yp ecV²¾  

Hc} & qBg Yy ²¾pd hr Adepcp£ AWy ²¾a²¾pcp£ Yp OpWr\oXp Yy \oWr ceBrBy Yp 

er ecV²¾ Hc} &  8 

Op£ 

 qJApces fWp^Yr Yy q\§N~ _pcW qeM gv³r`W Yy qeHpg Yp ecV²¾ Hc} & 8 
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I¥T D 

 (gc}W AZpcW \of²¾) 73=21 

13. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

²¾HY Op£ qO²¾g ? 

ApqB²¾ W~ qBH h}c \±cp h± : 

A`rd-Jtkpc  qgc³ ²¾HY d±V Yr ApYW ²¾p \pBy ^dqH ³gd er 

d±V dBr qWApc chy & qBh ^pY epdp WcrHp HBr Wcªp£ ²¾pd ecW~ 

qeM qdApqBAp Op gHYp h± & \qhdp, HVHtW: qh¥Yr kt̂ p²¾ qeM 

HV Yp `Wd^ h±, A²¾pO AWy HtW  Yp `Wd^ h± A¥Ypkp ... OyHc 

H}Br fH h}ey, Wp£ ³gd ²¥¾v qW¥²¾ e§I} e§I UycrAp£ qeM HRVp MphrYp 

h± – ^htW eZrAp, qeMdy `yd Yr AWy KRrAp£, AWy qBg Wcp£ fH 

Yvc Hc²¾p MphrYp h± & AHgc A¥Ypky ²¾pd HrWp qJAp O`r²¾ Yp 

t̀§d q²¾cZpc²¾ er Hp³r hY WH ghr ²¾WrOp qY¥Yp h± & Yvgcp, 

^RpBr, qOg²¥¾v _pGdr er Hqh¥Yy h²¾, qBg qeZr qeM ³gd HR Hy 

O`p£ Hc dBr Op£Yr h±, AWy q³c gpcy \§Ip Yr }̀OvYJr qeM qBh 

ckp ¥̀Yr ²¾pd e¥T HcYy h²¾ & qBg qeM HBr g`PYpc q²¾crIHp£ Yr 

d}m ht¥Yr h±, ²¾hs Wp£ _±mr g}M epdy MdpH d}H Z}Iy^pkr Yr ²¾raW 

cIYy h²¾ & Wrgcy, IyW ^RpBr, OY~ Eh ^rO }̂V W~ q\N~ IyW e¥T 

d|Yy h²¾ & M¡Xy, d~J ^RpBr ³gd HRV W~ ^pY, Eh EgYy Uyc dJp 

d|Yy h²¾ AWy q³c Eg²¥¾v Ap\} qeM e¥T d|Yy h²¾, AWy hc qBH (\§I) 

Ap\Vp qh§gp Kc d± Op£Yp h± AWy Eg W~ t̀²¾p³p (dp_) H`p£Yp h± &  

(13.1) ‘HVHtW:’ f^Y Yr \cI Hc} & 2 

(13.2) ‘IyW ^RpBr’ Yr `gvd egvdr Hc²¾ Yr \oVpdr Yy cv\ qeM qeApqIAp 
Hc} & 2 

(13.3) A`rd-Jtkpc Yr _vq`Hp Yr \cI Hc} & 3  
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14. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

‘‘e¥Tr h}Br e³pYpcr Yy dBr H}Br Xp£ ²¾hs’’ 

J}qe¥Y e§d_ \¥W ²y¾ Ydrd qYWr qH e³pYpc ²¾pJqcH ^V²¾ Yy dBr d}Hp£ ²¥¾v 

_pBrMpcy AWy Ap\Vy Ap\²¥¾v Ycq`Ap²¾ cI Hy g}MV Yr ApYW NTVr \ByJr : 

d}HW¥Wc Yr g³dWp Yy dBr `²¾®I ²¥¾v ge±-A²¾®gpg²¾ Yr Hdp qg§IVr 

\ByJr & d}HW¥Wc qeM qB²¾gp²¾ ²¥¾v Ap\Vy dBr KR AWy YvqOAp£ dBr 

eZycy qM¥Wp Hc²¾r MphrYr h± & qBXy e¥Tr h}Br e³pYpcr Yy dBr H}Br 

Xp£ ²¾hs & gpcr e³pYpcr qgc³ Yyg (Op£ cpO) ed HzYcW h}Vr 

MphrYr h± & OyHc qHgy d}HW¥Wc qeM Wtgs \cg\c qec}Zr 

e³pYpcrAp£ cI YzYy h} Wp£ AOyhr qeegXp Imr Hc qY¥Yy h} qOg 

qeM H}Br qeAHWr Op£ g v̀h Ap\Vr ³kvd IcMr E\c kp^Wp cIV 

Yy Xp£ e§Ty Op£ Yvgcy qhWp£ Yr q^dHtd \ceph ²¾hs HcYp Wp£ qBg 

Wcp£ d}HW¥Wc Yp Tt^Vp aHr²¾r h± &  

(14.1) qHgy e³pYpc fqhcr (²¾pJqcH) Yy \ò tI JtV Hr h²¾ ? 2 

(14.2) d}HW¥Wc Yr g³dWp Yy dBr ²¾pJqcHp£ ²¥¾v Hr Hc²¾p MphrYp h± ? 2 

(14.3) OyHc ²¾pJqcHp£ YrAp£ e³pYpcrAp£ e¥TrAp£ h}V Wp£ cpO (Yyf) AWy 

d}HW¥Wc Yp Hr hpd h}eyJp ? 3 

 

Op£ 
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 hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

‘‘`| g`PYp hp£ qH eIcy M}V hdHy KRqJVWrAp£ Yy dBr ApW`KpWr qg§Z h}VJy’’ 

 27 AJgW 1947 ²¥¾v g¥qeZp²¾ g_p Yr ^qhg qeM J}qe¥Y ^d§_ \¥W ²y¾ qHhp  

gr : 

|̀ g`PYp hp£ qH eIcy M}V hdHy KR qJVWrAp£ Yy dBr ApW`KpWr 

qg§Z h}VJy AWy E²¾ªp£ ²¥¾v _pcr ²¾®Hgp²¾ h}ByJp & OyHc E²¾ªp£ ²¥¾v h ỳfp£ Yy 

dBr AdJ XdJ Hc qYWp qJAp Wp£ Eh HYy er ^ht qJVWr Yy cv\ 

qeM ²¾hs Ap gHVJy & q²¾cpfp Yp _pe ftcv W~ hr E²¾ªp£ ²¥¾v q²¾c^d 

Hc YyeyJp & Wtgs Hr Mpht¥Yy h} AWy gpTp ApIcr RrMp Hr h± ? Hr 

KR qJVWr h`yfp£ Yr KR qJVWrAp£ Yr Wcp£ cqhVp Mpht¥Yy h²¾ Op£ 

Eh er qBH qY²¾ qBH `hp²¾ cpfRc Yp Aq²¾Imep£ A¥J ^V²¾ AWy 

Eg Yr WHYrc Yp q²¾cZpcV AWy q²¾a¥Wc²¾ Hc²¾ Yp gt³²¾p YyIYy 

h²¾ ? ỳcp qeMpc h± qH OyHc E²¾ªp£ ²¥¾v ^pHr _pBrMpcy W~ eI cqIAp 

Op£Yp h± AWy AOyhy hep ¥̂Y H`cy qeM AdJ XdJ HcHy cqIAp 

Op£Yp h± qO§Xy E²¾ªp£ ²¥¾v hep Yy dBr er h}cp£ E\c q²¾c_c cqhVp 

\ByJp Wp£ qBh E²¾ªp£ Yy dBr ^htW qOApYp IWc²¾pH h}eyJp ... & 

OyHc KR qJVWr eIcy M}V hdqHAp£ W~ qOW Hy Ap£Yy chy Wp£ 

AgcYpc qh§gp ²¾hs \p gHVJy & 

(14.1) HtP ²y¾Wpep£ ²y qBh qHE¤ g}qMAp qH KR qJVWrAp£ Yy dBr eIcy M}V 

hdHy h}Vy MphrYy h²¾ ? 2 

(14.2) HtP cpfRcepYr eIcy M}V hdqHAp£ Yr ¥̀J Yp qec}Z qHE¤ Hc chy 

g²¾ ? 2 

(14.3) J}q ¥̂Y e§d_ \¥W eIcy M}V hdqHAp£ ²¥¾v ²¾®Hgp²¾ YpqBH qHE¤ g`PYy 

g²¾ ? 3 
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15. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

qehpc qeM t̂§Z Zc` 

gt§W q\RH qeM~ dBy JBy qBg \±cy qeM t̂§Z qgJd ²¾p` Yy qBH A`rc Kcepdy 

²¥¾v gdph Yy chy h²¾ : 

`pdH ²¥¾v Ap\Vy ²¡¾Hcp£ AWy Hc`MpcrAp£ Yr \¥O Wcªp£ YyI_pd 

Hc²¾r MphrYr h±... E²¾ªp£ Yr WpHW Yy A²¾®gpc H¥` Yy Hy, E²¾ªp£ ²¥¾v 

_}O²¾ AWy `kYvcr Yy Hy, ^r`pc \±V Wy E²¾ªp£ Yr Wr`pcYpcr HcHy, 

E²¾ªp£ Yy ²¾pd gepYr IpVy e¥T Hy AWy g`z g`z Wy Nt§Rr Yy Hy... 

H^rdy Yy d}Hp£ ²¥¾v \¥O Wcp£ ²¾pd gc`Vp£ (qO²¾ªp£ g¥gpcH  

Ore²¾-Kc ^pc qWApqJAp h}ey) AWy ôph`Vp Yr YyI_pd Hc²¾r 

MphrYr h±... Hc`, eM²¾ AWy `²¾ qeM \oỳ  cphs, E²¾ªp£ ²¥¾v Or 

ApqBAp£ HqhV Yy dBr h ỳfp£ Kc Itdyª cIHy AWy E²¾ªp£ YrAp£ qY²¾ 

\oqWqY²¾ YrAp£ kcvcWp£ \vcrAp£ HcHy & 

qgJd ²¥¾v `pWp q\Wp, AqZAp\H AWy \W²¾r Yy ²¾pd qehpc Yy dBr 

er AOyhy hr E\Yyf qY§Wy JBy h²¾ & 

(15.1) t̂§Z ²y¾ ApMcV AWy t̀§dp£ ²¥¾v qHez `hW§e qYWp ?  3 

(15.2) qeAHWrJW \oapg qeM g`pqOH g¥̂ ¥Zp£ ²¥¾v qHez ^YqdAp Op£ gHYp 
h±¾ ?  2 

(15.3) qgJd ²¥¾v gc`Vp£ Yy dBr t̂§Z cphs qYWr gdph Yp qefdyfV Hc} &  2    2+2+3=7 
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I¥T E 

 (`p²¾ qM§Wc g¥̂ ¥Zr \of²¾) 2+3=5 

16. (16.1) _pcW Yy qY§Wy h}By cpO²¾rWH cyIp-`p²¾qM§Wc (\¥²¾p 11 Wy) qeM hyS¾ 

qdqIAp£ ²¥¾v UtHez qM²¾ªp£ ²¾pd YcgpG AWy E²¾ªp£ Yy ²¾p` qd§I} : 12=2  

 (a) HdH§Wp – 1857 Yy qeYc}h Yp qBH HzYc & 

    Op£ 

   gvcW – 1857 qeM q ôqRf Yy AZr²¾ qBH Xp£ & 

 (b) \p²¾r\W – t̀Jd gp`cpO Yy AZr²¾ IyWc 

           Op£ 

   qeO±²¾Jc 

(16.2) _pcW Yy qY§Wy JBy qBg hr cpO²¾rWH cyIp-`p²¾qM§Wc E\c Af}H Yy 

qfdpdyIp ²¾pd g¥̂ ¥ZW qW¥²¾ Xpep£ ²¥¾v A, B AWy C W~ A¥qHW HrWp 

qJAp h± & E²¾ªp£ ²¥¾v \NpV} AWy E²¾ªp£ Yy ghr ²¾p` E²¾ªp£ Yy H}d 

dJpBrAp£ cyIpep£ E¨\c qd§I} & 13=3 

²}¾R : hyS¾ qdIy \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 16 

Yy Xp£ Wy ^Ydey \of²¾ h²¾ : 

(16.1) t̀Jd gp`cpO Yy AZr²¾ qHgy qBH IyWc Yp ²¾p` qd§I} & 

(16.2) 1857 Yy qeYc}h Yy qHgy qBH HzYc Yp q^Gcp qYG & 

(16.3) Af}H Yy qfdpdyIp£ ²¾pd g¥̂ ¥ZW qHgy qW¥²¾ Xpep£ Yy ²¾p` qd§I} & 1+1+3=5 

Op£ 

 qHgy qW¥²¾ ^¡Z Xpep£ Yy ²¾p` qd§I} & 13=3 
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\of²¾ g¥. 16.1 AWy 16.2 Yy dBr 

_pcW Yp cyIp-`p²¾qM§Wc (cpO²¾rWH) 

Outline Map of India (Political) 

 
 


